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QUESTION 1

What is one way to insert data-driven commands into the test script? 

A. use the Insert Data Driven Commands button while recording 

B. use the Insert Data Driven Commands button while executing 

C. the commands are generated automatically while importing the datapool 

D. use the super helper class after recording 

Correct Answer: A 

 

QUESTION 2

Which three actions are possible with RFT? (Choose three.) 

A. use a wizard to substitute literals with datapool variables 

B. substitute literals in verification points with datapool variables 

C. create a datapool while recording a data-driven script 

D. create scripts in c# 

Correct Answer: ABC 

 

QUESTION 3

What must you do before editing the datapool using an external application? 

A. make it a public datapool 

B. make it a private datapool 

C. export it to a .csv file D. import it from a .csv file 

Correct Answer: C 

 

QUESTION 4

Which feature is NOT offered by the Object Map interface? 

A. the ability to delete test objects that are not referenced by any scripts 

B. the ability to delete scripts that do not reference any test objects in the object map 

C. the ability to find all test objects not referenced by scripts 
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D. the ability to merge two test objects 

Correct Answer: B 

 

QUESTION 5

Click the Exhibit Button 

A script needs to perform an action on an HTML List object. Figure 6.1 shows the recognition properties of the list
object. Figure 6.2 shows the recognition properties of the HTML document. 

What will be the score of the found test object at runtime if the .text and .id recognition properties in the list object are
different and the .url property of the HTML Document object? 

A. 1000 

B. 1400 

C. 10000 

D. 14000 

Correct Answer: D 
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